If T won £1,000,000 I would:

Hause (2 bdicains)

> A " %ﬁgkﬁ\
/ mw w55 600

3 door spors hatehback.
£4p, 0

—

WY

\\4 Dives o friends £59 @0 s prssn and 10% o)

_ - ) o T G wsiwang £100
\(op«cal‘ cland oy Rwd{\g i) T Disigier shots €966
£6,0C0 RS QWM dorahor  + Chegoies £206
= £6, 060 + Huh‘d%%v M P £2,500
2 bidvoom Pl Kodugy
£3u4 0c0

For the investment, | would put £50,000 into a 3 year fixed rate bond with net interest of 2.1% per year. The compound interest on this investment would be £3,217 to the
nearest pound giving a total investment return of £53,217.

The remaining £10,000 would be put into a stock market linked bond. This is riskier as it depends on how well the stock market does. If it performs
well it could return 13.5% at the end of the three years, which would be £1,350 so a total of £11,350. However the stock market could do badly and
after the three years | could end up with less than the £10,000 | started with. That’s why | would only invest a smaller amount into this option.




